5. A company has sales of Z 2 lakh. The variable
costs are 40% of sales, while the fixed operating
costs amount to ¥ 60,000. The interest burden on
debt is ¥ 20,000. You are required to calculate
opeating, financial and combined leverages and
illustrate its impact if sales increase by 5%.

6. Y Ltd. has approached to the public for issue of
8% debentures of ¥ 100 each at a premium of
10% and these debentures are repayable after 8
years. The expenses of issue are estimated to
be ¥ 4 per debenture. Find out the cost of capital.

The details given below are in respect of two
mutually exclusive proposals :

Proposali Proposaili
4 4
Cost of outlay 50,000 35,000
Cash inflows
1styear 40,000 30,000
2nd year 40,000 30,000

Cut-ffrate is 10%. Evaluate the Uﬂo_.mowm under N.
P.V. m:n P. 1. Methods.

What _OmU:m_ Market ? Discuss the significance

of Capital Market.
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Candidates are required to give their m:m%_\m\m in
_— Fown words as far as practicable.

/N\( .J,QV The questions are of equal value.

2
%

Answer any four questions in which
Q. No. 1 is compulsory.

Choose the correct option from the following :

) Financial Management had been called
sometimes before ac:
(i) __Business Finance
(i) Corporation Finance
(iii) Institutional Finance

iv) Both (i) and (ii)
.\~\ (b) Pay Back Period means :

(i) Periodin which paymentis to be made

A (i) Period in which payment is to be

\\* \ received
e @ (it) Periodin 5?\9 armount of investment is

recoveren -
o

one of these
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